
Irish breakfast
Áine, Brendan, Cian, and Dearbhla are cooking a full Irish breakfast to celebrate St. Patrick’s

Day. They go to the supermarket to buy four ingredients: eggs, sausages, baked beans, and

tomatoes.

In total,  they buy eight items:  two cartons of  eggs, two  sausage links, two  tins of  baked

beans, and two tomatoes.

Each person buys two different types of ingredients. Also:

• Áine buys eggs, but Brendan does not.

• Cian and Brendan buy baked beans.

• Dearbhla and Cian buy one item in common.

• Brendan does not buy sausages.

QUESTION 

 If Áine and Dearbhla both buy one item in common, what item must it be?

A.  

B.  

C.  

D.  

A carton of eggs

A link of sausages

A tin of baked beans

A tomato 
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